1 2 3 4 5 6 7 8 10
C9
24.5 52.5 Cc8
—~ 4 oc7
)
4 h9(803) °? 2.5 . c10
© <
/ N S S
Vi - \\ s | 1 r
/ \ /—g fﬁ” ‘
0 o ilj ~ I 7 ‘&’j” ™[ w0
2 ¥ €| - T ] T A1——'* 1 /R <
7 . ::
\ M
N\ , 8 3 I/‘ | _
\ / ’
90° - -
\ \PCD @44 PCD 2C1
4—M4x9 SEE DETAIL A X1
C4 max.
CM2 : 60A400 110.5
24.5 56.5 29.5 066
N
0’ & 22.5 080
oo
] ]
] — 2.5
s) 4—M5x10
1 4 h9(_03) = < & %
s| 2 14 3 ® £
DETAIL A / \ <
SCALE 5:1 B s
~ T i |
// \\ = C _: |
\ 5 | [N/
0 o 7 ~] i ! o
- TS at Y g Ea AT "'_'T:_'“ S
o € - -l -
‘\ / s 3 10 |
~ - |y U !
. /
oY —
\ \ ] PCD C1/ 288
4—M4x9 SEE DETAIL A 16
PCD 244
48 max.
NOTE :
ONLY OUTPUT SHAFT WITH KEYWAY IS AVAILABLE
CMNo.g |Conlunction Applicability By Ratio Dimension [Unit : mm]
) Plate 314 |5]7 |10 c1 c2 c3 c4 | c5 | c6e | c7 | c8 | c9 | c10| xi X2
11L300
115300
ouy 175308 © 63 32.5| 40 | 4 18| 93| 11 ) 45 T4 Date | 2015.01.08 Tt Cool Muscle Gear 1—stage
17300 4—Mdx9 58 e
231200 Scql i CM—-PE2050
8 max cale 1 . 1
222?82 - 66.675 355|381 6 21 | 98 | 14 | 75 | 77 Dwg N
: wg No.
568200 Size A2 9 CMPE20501-10
cM2 | 60A100
70 | 4-M5x10 32550 | 4 [ 60 | 18 | 95 | 11 | 45 | 80 SRD Angle m
60A200 - - L —|:]~
50A400 — T — — — — T S N U R R B Projection MUSCLE CO y LTD
1 2 | 3 | 4 5 6 7 | 8 | 9 | 10




